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TAXATION-II — GENERAL
Paper : DSE-5.1A

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.

[ ]

2020-21 

`.

Tax payable (including Health and Education Cess) 40,560
Tax deducted at source :

Situation - I 35,000
Situation - II 20,560

234A 
Due date of submission of return 31.07.2020
Return actually submitted 15.09.2020
Tax payable `.  85,000
Tax deducted at source `.  37,000

234B 

234F 
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2019-20 58 
2020-21

(a) Gross salary ` 15,00,000.

(b) Professional tax paid@ ` 200 per month.

(c) Long term capital gain on sale of building ` 1,00,000.

(d) Received dividend from an Indian company ` 10,000.

(e) Received interest from Savings Bank Account ` 5,000.

(f) Deposited ` 1,00,000 to Public Provident Fund.

(g) Paid life insurance premium on her life ` 25,000 (taken on 01.01.2018, sum assured ` 5,00,000).

(h) Paid medical insurance premium by cheque on her own health ` 10,000.

(i) Donated ` 10,000 to National Defence Fund.

(j) Repaid home loan taken from SBI ` 2,50,000 (of which ` 52,400 is for principal repayment).

X, Y Z 
3 : 2 : 1 31.03.2020 

Particulars ` Particulars `

To, Salary to partners : By  Gross Profit 5,00,000
X — 1,00,000 By  Interest on bank deposit 70,000
Y — 60,000
Z — 40,000

2,00,000
To Interest on partner’s capital

@ 15% p.a.
X — 30,000
Y — 20,000
Z — 10,000

60,000
To Depreciation 2,20,000
To Sundry expenses 50,000
To Net Profit 40,000

5,70,000 5,70,000
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2,30,000 

7,000 

2020-21 

[ ]

G.S.T.

G.S.T.

GST- 

GST- 

GST

CGST 

2020 

Input tax credit available for the month of June 2020 : IGST ` 1,80,000; CGST ` 1,20,000;
SGST ` 1,25,000.

Output tax payable for the said month : IGST ̀  1,45,000; CGST ̀  1,40,000; SGST ̀  1,50,000.
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X 2,50,000 GST 
2020  4,42,500 GST X

18% 

CGST 

(Time of supply) 

(Safeguard) 

`

(i) Price charged by the Exporter (FOB) 12,00,000

(ii) Freight from importing country France to India by air 3,00,000

(iii) Insurance 60,000

(iv) Commission paid to a local agent in India. 10,000
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[ English Version ]

The figures in the margin indicate full marks.
[ Direct Tax ]
(Marks : 40)

Group - A
Answer any two questions.

1. (a) Who is liable to pay ‘advance tax’?

(b) From the following information, compute the amount of advance tax payable by Mr. Rohit Sharma
on specified dates as per Income Tax Act for the assessment year 2020-21 :

`.

Tax payable (including Health and Education Cess) 40,560
Tax deducted at source :

Situation - I 35,000
Situation - II 20,560 2+8

2. (a) Write a short note on defective return.

(b) Write a short note on Best Judgement Assessment. 5+5

3. (a) From the following information, calculate Interest Payable U/S 234A :
Due date of submission of return 31.07.2020
Return actually submitted 15.09.2020
Tax payable `.  85,000
Tax deducted at source `.  37,000

(b) Write a short note on interest payable U/S 234B. 5+5

4. (a) Discuss the provisions of the Income Tax Act regarding ‘Fees’ for default in furnishing return of
income under section 234F.

(b) Explain the provisions of the Income Tax Act relating to deduction of tax at source (TDS) from
salary. 4+6

Group - B
Answer any one question.

5. Smt. Bijeta Mali (Age 58 years.), a resident individual of India, furnished the following details of her
income during the previous year 2019-20. Compute her total income and tax payable for the assessment
year 2020-21.

(a) Gross salary ` 15,00,000.
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(b) Professional tax paid @ ` 200 per month.

(c) Long term capital gain on sale of building ` 1,00,000.

(d) Received dividend from an Indian company ` 10,000.

(e) Received interest from Savings Bank Account ` 5,000.

(f) Deposited ` 1,00,000 to Public Provident Fund.

(g) Paid life insurance premium on her life ` 25,000 (taken on 01.01.2018, sum assured ` 5,00,000).

(h) Paid medical insurance premium by cheque on her own health ` 10,000.

(i) Donated ` 10,000 to National Defence Fund.

(j) Repaid home loan taken from SBI ` 2,50,000 (of which ` 52,400 is for principal repayment). 15+5

6. X, Y and Z are partners in a firm which is assessed as a firm. They share profit and losses in the ratio
of 3 : 2 : 1. The firm’s Profit and Loss Account for the year ended 31.03.2020 is given below :

Particulars ` Particulars `

To, Salary to partners : By  Gross Profit 5,00,000
X — 1,00,000 By  Interest on Bank deposit 70,000
Y — 60,000
Z — 40,000

2,00,000

To, Interest on partner’s capaital
@ 15% p.a.
X — 30,000
Y — 20,000
Z — 10,000

60,000
To Depreciation 2,20,000
To Sundry expenses 50,000
To Net Profit 40,000

5,70,000 5,70,000

Other information :

(a) Depreciation as per IT rules ` 2,30,000.

(b) Sundry expenses include fines of ` 7,000 paid to custom authority.

For the assessment year 2020-21 compute–

(i) Total income of the firm.

(ii) Tax liability of the firm. 17+3
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[ Indirect Tax ]
(Marks : 40)

Group - C
Answer any four questions.

7. (a) Mention any two features of G.S.T.

(b) Mention any three taxes that are subsumed in GST.

(c) Define as per Central Goods and Service Tax Act :

(i) Goods

(ii) Services. 2+3+(2+3)

8. (a) What is the ‘taxable event’ under the GST?

(b) Who is a ‘Taxable Person’ under GST?

(c) Mention two indirect taxes not subsumed in GST.

(d) Explain the concept of composite supply. 2+3+2+3

9. (a) Write short notes on Supply as per CGST Act.

(b) What is reverse charge?

(c) What do you mean by mixed supply? 5+2+3

10. From the following information, compute GST payable for the month of June 2020 :

(a) Input tax credit  available for the month of June 2020 : IGST ` 1,80,000; CGST ` 1,20,000;
SGST ` 1,25,000.

(b) Output tax payable for the said month : IGST ` 1,45,000; CGST ` 1,40,000; SGST ` 1,50,000.
10

11. (a) X, a registered dealer in Mumbai, purchases goods from certain dealers in Mumbai for an amount
of ` 2,50,000 (exclusive of GST) and sells goods within Mumbai for ` 4,42,500 (inclusive of GST)
in June 2020. Calculate the GST payable by X for the month of June 2020. Assume GST rate is
18%.

(b) Write short notes as per CGST Act on :

(i) Capital goods

(ii) Input tax credit. 5+(2+3)

12. (a) State the provisions in respect of time of supply of goods under forward charges.

(b) Mention any two cases where a person is not eligible to opt for composition scheme. 8+2
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13. (a) Define ‘Goods’ according to Customs Act.

(b) Mention any two duties as provided in the Customs Act.

(c) What do you mean by ‘Territorial Waters’? 5+2+3

14. (a) Write short note on safeguard duty.

(b) Determine the assessable value from the following information :
`

(i) Price charged by the Exporter (FOB) 12,00,000

(ii) Freight from importing country France to India by air 3,00,000

(iii) Insurance 60,000

(iv) Commission paid to a local agent in India. 10,000 5+5


